Subject: Post-neonatal mortality
Posted by Varsha on Mon, 17 Feb 2025 21:57:37 GMT

View Forum Message <> Reply to Message

Hello,

I'm constructing a dummy for post-neonatal mortality (infants between 28 days and one year old)
as follows:

g PNM =0

replace PNM = 1 if b7>=1 & b7<=12

Should | use b6 as it gives us the number of days?

gPNM =0

replace PNM = 1 if b6>=28 & b6<=301

I'm using b7 for other types of mortality. Does it make a big difference if | use b6 for some and b7

for others?

Thank you
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